
Problems and Answers. Name______________________________________Date____________. Answers
Solve the problem #1
Calculate the following:

log   ( 100000 ) = __
0.01

Solve the problem #2
Calculate the following:

log   ( 1000000 ) = __
100

Solve the problem #3
Calculate the following:

log   ( 125 ) = __
25

Solve the problem #4
Calculate the following:

log   ( 0.0625 ) = __
64

Solve the problem #5
Calculate the following:

log   ( 10000000 ) = __
0.01

Solve the problem #6
Calculate the following:

log   ( 0.0016 ) = __
0.2

Solve the problem #7
Calculate the following:

log   ( 1000 ) = __
0.001

Solve the problem #8
Calculate the following:

log   ( 0.001 ) = __
0.001

Solve the problem #9
Calculate the following:

log   ( 10000000 ) = __
0.01

Solve the problem #10
Calculate the following:

log   ( 0.0016 ) = __
0.04



Problems and Answers.                Answer keys                    Answers
Solve the problem #1
Calculate the following:

log   ( 100000 ) = __
0.01
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Solve the problem #2
Calculate the following:

log   ( 1000000 ) = __
100

 3

Solve the problem #3
Calculate the following:

log   ( 125 ) = __
25

 3/2

Solve the problem #4
Calculate the following:

log   ( 0.0625 ) = __
64
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Solve the problem #5
Calculate the following:

log   ( 10000000 ) = __
0.01
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Solve the problem #6
Calculate the following:

log   ( 0.0016 ) = __
0.2

 4

Solve the problem #7
Calculate the following:

log   ( 1000 ) = __
0.001

 -1

Solve the problem #8
Calculate the following:

log   ( 0.001 ) = __
0.001

 1

Solve the problem #9
Calculate the following:

log   ( 10000000 ) = __
0.01
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Solve the problem #10
Calculate the following:

log   ( 0.0016 ) = __
0.04

 2


